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ASSINMENT WORK
B.A. (Part I) EXAMINATION, 2020
ECONOMICS
Paper Second
(Indian Economy)

Time : Three Hours ] [ Maximum Marks : 75
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Attempt all the five questions. One question from each Unit is compulsory.
All questions carry equal marks.
—1
(UNIT -1)
1. wRa # Aenfie e vd foverets dReror i & R oIty |
Explain the industrial development and differential protection policy in india.
STRIAT
(OR)
fr=faRad # 9 fogl <1 W e fewfort faRay:
1. P BT ATOTSHIHRI
2. WA & AAYI IR Jeferawer
3. 9Rd # qIfvfie dar &1 e |
Write a brief comment on any two of the following:
1. Commercialization of agriculture
2. Indian economy at the time of independence
3. Development of commercial banks in india.

3P —2
(UNIT -2)
2. YRAY fgaReT & faeivdrsl & arar I |

Explain the characteristics of indian economic.
I

(OR)
YRT § SHoll b FEAT IR BT ST d2AT Hofl Fhe b BRI bl adrsy |
Highlight the means of energy in india and explain the reasons for the energy crisis.
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IR -3
(UNIT -3)
3. IR G & UgE I 1 & ? IR IS &1 Aherdisil T aberdial
B T DIRTY |

What are the main objectives of india planning? Explain the successes and failures of
indian planning.

3rrar

(OR)
f=foRaa & & fel ©F R wfera fewforat falRae —
1. ¥3 e Hifa
2. BRI BIfd
3. PN A |

Write a brief comment on any two of the following:

1. New economic policy
2. Green revolution

3. Agricultural credit.

SIS —4
(UNIT -4)
4, IR & SMENTER0T # AESIS &85 fHdT o fade T Sy |

Discuss the role of the public sector in the industrialization of india.
S

(OR)
1991 T T4 3enfie HfT @ g faemanst o gargy |

States the salient features of the new industrial policy of 1991.
g —5
(UNIT -5)
5. T @1 € ? vRd F TR AR & o) Fols O X&) ASiel B ARAT BT |

What is poverty? Explain the schemes being implemented for poverty alleviation in

India.

3T

(OR)
frrafaRaa & 9 forsl <1 R dfea fewfrt faRay —
1. SRISTRI
2. qIdr el

3. 3 DI IFRIAT] |

Write a brief comment on any two of the following:
1. Unemployment

2. Balance of payments

3. Income inequality.
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